
ussndi (tr)'.{,000,000
E00,000I

+ !{
6,800.0!aYrYyVrV4E

%
10 three 

= 
([3f) + (0 x 3o] = 3ren

= l ltwo

I0ltrvo
+ I_I *,.iro
l 0-0 0:tvo

0.2hm2 = * * 10,000 =2000m2
4darn2 = 4x100 = 400m2
Therefore,2000mz- 400m2 = 1600ma

4x-lx = 3600* 90o
5x = 27Oo
5r ZTOo
E= _+

55
x= 544

su7,l_ of items
nutnber of iterns

9+3+1+{r+.1.t5 30=_________-=5
(a). x = b (corresponding angles)

(b). a = c (alternate angles)

u'

Zx*L=Z-x
2x+x=2-l'.L
3x ='33x3
J--

33
x=7"
= 100% - 60% = 40% (weigh tess)

Pupils weigh tess = # x 1, 200

= 480 pupils

=# s 300min =# =Shours

(a). $et A = {2, 3, 5, 7, 1 1, 1 3,
Set B.= {1, 3, 5, 7, g, ,l1, 13}
AnB = {3, 5,7, ,l1, 13}

5544cm2 =
7

s5rt4cm2 x7 =g}ri
5544cmt x 7 BBrz

uB 88
rz = (r3cm2 x7
,[r* = ,t4.+t*",

r = Zlcm
L

Vol = I ,rr3
34?2

= A* VxZLcmxZtcm
xZlrrn

= 38. B08czre3

A=SxS
= 4.5cm x 4.5cm

= 20.25cm2

FICF = 3 {only 3}-an divide all the three
numbers at once)

(a). 1 book = (2,400 + 6) Frw= 400Frw
5,000Fnrv = (5,000+ 400) = 12 books
(b), Bal = 5,000Frw - (400 x lllFwt
= 5,000Frw - 4,800Frw

= 200Frw
354=- x - x -54s

=,EAS 1S
_ --_j_.1 :)

10

(a). Rectangt- hr; ej of sy,i,rmliiy

(h). A square has 4 lines of symmetry

105-3x5x7

Tolal part+]";]-; s -
(a). Girls = 1 y, 4O =24 girts

(b).Boys=f xa0=16boys

=18- x 100

= 700/o

_,lxirlXri-l3xn
,1

_c.x 3x-2r."Jx6
6

A.42. * x 300 = 126,........(iii)

* =* * 300 =132.........(iv1

# =ll * 3oo =1r0....,....(i)

0.41 = a'o x 300 =123.........(iii

ffi: i:---
1 100

=1
3

- 24+ 1{' 42

Teacher's guidance --o*_*-i_= 7

P: SP-CP

= 66,000Frw - 55,000Frw

= 11,000Frw

,no=** 100

=*ff; x 1oo

= 2A%
(a). Angle ABC = Angle ACB * 45o

Angle CAD = i30o- (CDA + rqgp;

. = 1800_ (g0o + 450)

= lfQo- ltgo

= 45o

(b). Triangle.ABC is an lggrce[g
triangle

= ff, o.*L, a.4.2,
1:
ZS



.i
ta)1Actlfaf Lenglh = (10 x 6)m = 6Cm

(b). Actualwidih = (10 x 5)m = 50m

lp).surdaceatea = L x W

A'r Pi,l '

I CI0.00OFnv
+ 20,00OFnr
120.'00SFnv

Part (a)

Interegt fof.ltt vear

_Pxrxl
x00

_3,000,000x1x5
100

= 150,000Fnru

A=P+l

= 3,000,000Frw + 150,000Frur

= 3,150,S00Fryv

lnterest for 2i'd vear

_rrxTxR
100

_3,150,000 x 1 x s

1c0

= 157,500Frw

G.l= Total interest of (1styr + Zndyr)

" 150,000fnr + 157,500Frw

= 307,500Frw.

part (b)

A=P+C,I

= 3,000,000Frw + 307,S00Frw

= 3,307,500Frw.

&tria]
L' - Zrrr

2 x22t
44.-%

7

44x7 =44t.
+4 x 7 4.4r

4tL 44
.t. = 7 cnt

V : urzh
22 xTuttxTunx Lticlri

7

= l,S4\ctn:,
Ir:

part {b} 1,

7'5'4=Zrtrz+Zrrt-lt
2x22x7x7 2x2.zxix7t)--"'t-_---..t 7.

= 30{}crn;{ ,.1- 4,[0cn1

= 74{Jcn}
i

E 60m x 50m

= 3,000n12

;- Ix1o0 ,;'P 
= ---qf xfi.' . l

- 20,000'X 10O

2xt0
= 100,000Fnrv

Part {b}

Mode mark = '10

Part (cl

Mean = 
Totn'l.fx
7'otttl. f

220
20

Part (al

= 2a2b - ac

=2xfl.xaxb;cxc
=2x'Lx-1x2--1x3
=4+.3

part (b)

(i). Rectangle

(ii). Length = Length

' 3/+!=x*9
3x-x=9-1

2x=B
.ZxB, _=_

22
X=4

l=(4+9)cm =13cm

YY = {3 x 4 - 7}cm = l1Z-7)cm = Scm

(iii). Perimeter and surface area

P=2(L+W) A= LxW

= 2(13crn + ssm) ;13cm x Scm

=2x18cm =65cmi

= 36cm

3534

a

Part {a)

vot= ff xr,

l?cm x Scm
= ---r- x 25cm

= 3Acm2 xlScm

= 750cmg

part tbl

Hypotenuse (H)={6F*p

'z"hefiffi

= 13cm

TSA=(bxh)+ L(b + h+II)
= (12 x S)cmz + 25(5 + 12 + 13)cmz

= 60cm2 + (25 x 30)cmz

= 60cm2 + 750cmz

= 810cmz '

=J(sxS)+(i?x1a
%

=',lZ\cmz * l44cmz

Frequency, /

J

4

Total, f = 29

15

it----
Total, fx = 220

=11


